AXOR

ZH 7 PFM 7 dEH 02

EN / Instructions for use / assembly instructions 03

58)

AXOR Starck
10416007

S,

AXOR Citterio M
34425007

55\

AXOR Citterio
39455007

INSTALLATION



ZH 02

A BT S

AN AT SR V. AR B2 .

AN Y BOK I K IR K ) 22 0T DA WS SR

O A BUKIR B, IR RS, TR

b IS

/AR A R BEE, e ¥ “
St e Tt

/RN A R AR UE AT 265 oA

K, LQ“%\ Kb SRER D
/ R4 :;‘—» F-l/—~ Ly g r‘—»n B
T IEST Y M KT I e R
HARSK (ﬁm%ﬁm:_
TR Bk 1 MPa 03 Mioﬂﬂ‘ﬁ‘](ﬁiﬁ.
HitE T A 0,1-0,5 MPa @ ik
3 5 1,6 MPa @ VBT H KM K
(1 MPa = 10 bar = 147 PSI)
ORI BE K 70°C S AT
PO L b @\ B s O
I T K 70°C /4 44 5 5 05 )
Z Y N
e T S 0
Fgi B2
© susnDd
[i1] JA B
/ AR / WL, 259 / T
/ ek /T eE / B
/BRI AR, WAook, WeRed / dm IR A /5 v 3 P il
KIS, BoK g ash. S / R
/ A ALAE / YR / WS / OB Ll
/ KB / B
/ S e IR / BT

%k BRI ] 2=



AN SAFETY NOTES

A\ Gloves should be worn during installation to prevent
crushing and cutting injuries.

A\ The product may only be used for bathing, hygienic
and body cleaning purposes.

A\ The hot and cold supplies must be of equal pressures.

INSTALLATION INSTRUCTIONS

/ Prior to installation, inspect the product for transport
damages. After it has been installed, no transport or
surface damage will be honoured.

/ The pipes and the fixture must be installed, flushed and
tested as per the applicable standards.

/ The plumbing codes applicable in the respective coun-
fries must be observed.

TECHNICAL DATA

Operating pressure: max. 1 MPa
Recommended operafing pressure: 0,1-0,5 MPa
Test pressure: 1,6 MPa
(1 MPa =10 bar =147 PS)

Hot water temperature: max. 70°C
Recommended hot water temp.: 65°C

max. 70°C/4 min

Thermal disinfection:

The product is exclusively designed for drinking water!

FAULT CAUSE

03

SYMBOL DESCRIPTION

« Do not use silicone containing acetic acid!

ADJUSTMENT (see page B9

To adjust the hot water limiter. Using a hot water
limiter in combination with a continuous flow
water heater is not recommended.

DIMENSIONS (see page [l

D

FLOW DIAGRAM
(see page [l
Rate of flow by 0,3 MPa:

® Shower outlet
@ Tub outlet

OPERATION [see page )

SPARE PARTS

© (see page B

CLEANING [see page [

REMEDY

/_Mixer stiff

/_Cartridge defective_calcified /

Exchange cartridge

/_Mixer dripping

/_Cariridge defective

Exchange cartridge

/ Hot water temperature too low, no

/ Hot water limiter incorrectly set

cold water. Instantaneous water
heater starts up when cold water is
selected.

/ Crossflow

/
/_Set hot water limiter
/

Exchange cartridge

/ Diverter not operating /_Residue

/ Clean converter/grease O-rings

/ Water pressure to low /

Increase water pressure

/ Diverter defective

ASSEMBLY (seepogeﬂ)\K‘

/ Exchange diverter



S 04




05 S







AXOR Starck AXOR Citterio M AXOR Citterio
10416007 34425007 39455007
» 56-84 |« » 61-89 €4 € 60-88
o 5¢ 14 15
™

"] e
4——j
| %30
;44
|
|<—®|30+
T

o
I

170/170
74 ¥
49 (¢
.
170 /170
j— 74
24

AYAY
A

*% 60-88 tJ
4—89-117

@170
j—74

<4+— 82
4
<—

2

4'61-89*‘

4 91-119

10416007
AXOR Citterio M 34425007

AXOR Starck

AXOR Citterio 39455007

0,50 50

e O

0,40 40

0,35 / 3,5

0,30 3,0 ——

, ; i =
£ 025 /. /. 25 § X

0,20 A— 2,0

0,15 ,/ : 15 @

A

0,10 // 10

0,05 Zd - 05

0,00 - 0,0 8
Q=I/min0 6 12 18 24 30 36 42 48

Q=1/sec O 0,2 0,4 0,6 0,8



@@@ 08

AXOR Starck 10416007

8133000
4 (16x2)

92602000
(20x2,5)
SW 15 mm

Q6461000
(M45x1,5)
SW 36 mm

Q6447000
(@ 165 mm)

96525000 55730000
SW 4 mm (M4x20] 95806000
SW 4 mm AXOR Starck

25980000

98371000
[29x3

@y o

96454000
(M5x55] 96395000 / Q

95508000
(48x3)
8
94045000 ‘
(Max10] /. 96338000
SW 3 mm
10490000
£ AXOR Starck

[l

58-80 mm

9

J

14961000
13595000 AXOR Starck
25 mm (33 mm)




09 @@@

AXOR Citterio M 34425007 / AXOR Citterio 39455007

98133000
GE; //////(onQ
L

74 2\

94073000

92602000

08207000 [20x2.5)

[16x2,3)

SW 15 mm

96461000 98793000 e
98969000

(M45x1,5) (@ 145 mm)
AXOR Citterio M

@Wiﬁmm
of

Q6448000

95008000
96525000 959730000

(M5x20)
SW 4 mm 95140000
(M4x20] 95980000 A N 98371000
A\ € 4 .
SW 4 mm \ = 0/
96454000 @
(M5x55)
96395000 //
95508000
(48x3)

97667000 -
(M4x10
SW 2 mm
96473000
A 34096000
HIH AXOR Citterio M
96751000

AXOR Citterio

©8371000
(29x3

58-80 mm lO

95508000
(48x3)
96473000
13595000 14972000 14967000 97667000 70338000
25 mm AXOR Citlerio M AXOR Citterio (M4x10) 30497000

(33 mm) (33 mm) SW 2 mm AXOR Citterio



@ 10

DUIITAR AHE 7™ i B 35 A

BRI T ek, G ek, B, MofE, HTES.
AR AR B AR AR5, DU
AR RIBE T RE R TS oK.

T G AR R B LR R B,
T 38 7= o e A A S LR

FEPRIRDUDTREAE™ i, N b2k 3%

/- SLRB AR L8 A7 I B I Al JH T 4% 7™ I B T i
7.,

/O RV AR, BOR, AR T i
700, TR hy ik BB I R 224 7 o AR TG ™ T PR 45
1.

/T BRIR NI T A0 A A A% 1 T .

/- R FRVRHE PR LB 3 IR £ G,

/ ARV EAREE R TRM A, WA
AR, 4l AN e .

V7Y, Va5l S5 R = £1c bl U A E i C ANV B

/PRSI R A R AE IR R, PR SR
SRR FHIS TR T A

/ SE ST I DLBIR K .

/A SUVRRE BT ) B B DUSEHE ™l B, B
W8 5 2 0 A DU AR JE 7™ o PR T 1 8 2 B B T
BB, E R R O b, PN
.

/AT 2 IR R IR e, DLMIE 2 BR sk
R (T3

/AR HZRICEVENL,  FR A .

L

MR, BeAoK. Wi, Hedaml. Aok, EIEIK. 8
PRI PR 2 A 2% 77 i A 4%

BRAL: PG B/ T ACHE R A b T v
[RVRELE™ i T 07 ARG R 2, Bl
AL TRAE T DR RS LU AR P 5 U S AR
7

T2 2 ) R T AR SE AT 3 70 x4 2R i RE K
.

R TR, WA Z i
fERy.

A W AT I T P A AT AR A TE AR 2 B 7
R Z A,

QUICKCLEAN

AT QuickClean, T T.iE{HIAE, HEHWEk LK
Wi, HF AR AT

s

Hansgrohe [a] I P $RIE, 127 d il skpE. W
REML 2 FRTAFN IS B, Hansgrohe #f

F kbR, PRIESFAIE 5 W www.hansgrohe-int.
comguarantee,  FEFE HiPRAE MAURIN 5K R LRI & 1R
Tr. ARGRIE AP R A I Gk HERLE T B A




CLEANING RECOMMENDATION FOR
HANSGROHE PRODUCTS

Today, modern sanitary and kitchen tapware, showers,
accessories, washstands, tubs and radiafors consist of very
different materials to comply with the needs of the market
with regard fo design and functionality.

To avoid damage and reclamations, it is necessary to
consider cerfain criteria when cleaning.

WITH REGARD TO CARING FOR THE
HANSGROHE PRODUCTS, THE FOL-
LOWING MUST IN PRINCIPLE BE
HEEDED:

/ Only use cleaning material which is explicitly provided
for this type of application.

/ Never use cleaning materials, which contain
hydrochloric acid, formic acid, chlorine pale lye or
acetic acid, as they cause considerable damage.

/ Phosphorus acidic cleaners are only conditionally
applicable.

/ Mixing cleaning agents is not permitted, generally.

/" Never use cleaning materials or appliances with an
abrasive effect, such as unsuitable cleaning powders,
sponge pads or micro fibre cloths.

/ The instructions of the cleaning agent manufacturers
have to be followed absolutely.

/ Cleaning has to be carried out with a specified cleaner
dosage, contact fime, object-related and adapted to
the needs.

/ The building up of calcifications has to be removed by
cleaning regulary.

/" When using spray cleaners, spray the cleaning solution
onto a soft cloth or sponge, never directly onto the
Hansgrohe products, as the atomised spray could enter
openings and gaps in the Hansgrohe products and
cause damage.

/ Ahter cleaning rinse thoroughly with clean water to
remove any cleaner residue.

/ The use of steam cleaners is not permitted. The high
temperatures can damage the products.

IMPORTANT

Residues of toiletries such as liquid soaps, shampoos and
shower gels, hair dyes, perfumes, aftershave and nail
varnish can also cause damage.

Here too: Carefully rinse with water after use to remove
residues.

11 @

Likewise, do not store any cleaning agents or chemicals
under the products, for example in a vanity unit, as the
vapours may damage the products.

The damage of already damaged surfaces will deferiorate
under the effect of the cleansers.

COMPONENTS WITH DAMAGED SURFACES
A MUST BE EXCHANGED, OTHERWISE THERE
COULD BE AN INJURY DANGER.

Damage caused by improper treatment will not be covered
by our guarantee.

QUICKCLEAN

The QuickClean cleaning function only needs a small
manual rub over to remove the lime scale from the spray
channels.

WARRANTY

Hansgrohe guarantees to the consumer that this product

is free of production faults. If evertheless any defect is
detected within 5 years from date of purchase, Hansgrohe
will remedy this defect free of charge. You will find the
conditions and details of this guarantee at www.hansgrohe-
int.com/guarantee. Please contact your confracting party fo
claim your rights under this guarantee. This guarantee does
not affect the customer's rights under the respective national
legislation.

B




¥/ cold

#/hot

AXOR / Hansgro he SE
AuestraPe 5-9

77761 Schiltach
Deutsc hland



	中文
	English

